
NSN 5340-01-413-9047
Mechanic Equipment Hardware Kit - Page 1 of 1

View Online at https://aerobasegroup.com/nsn/5340-01-413-9047

End Application:

Next generation radar (nexrad)

Unit Package Quantity:

28

Component Quantity:

1908

Component Document Origin:

Industrial

Document Source:

35844

Document Type:

Engineering parts list

Component Document Page Number:

1 and 2

Supply Items And Quantities:

5310-01-208-3870 washer,  lock

Nonsupply Items And Quantities:

35844 79648 inst. Bulletin 1;  35844 171820x panel,  fastener 300;  35844 171821x-1 inner panel bolt 20;  35844 171821x-2 outer panel bolt

20;  35844 9999-59 nut,  hex 5/16-18 cres 340;  35844 9974-17 washer,  lk,  splt,  hel 5/16 cres 340;  35844 9997-74 washer,  flt,  5/16 cres

340;  35844 171822x special bolt 1/2-13 50;  35844 9974-64 washer,  lk,  splt,  hel 1/2 cres 100;  35844 9999-61 nut,  hex 1/2-13 cres 90; 

35844 171823x special bolt 1/2-13 40;  35844 9963-165 screw,  cap,  hh 3/8-16x1.25 cres 25;  35844 9999-60 nut,  hex,  3/8-16 cres 80; 

35844 171558 special washer 15;  35844 172421 combined drill 1;  35844 171793x u bolt 4;  35844 171784x w/g clamp plt. 4;  35844

17185x w/g clamp spacer 8;  35844 171786x w/g clamp stud 8;  35844 200852 stick wax 2;  35844 173115x taper black 10;  35844 9907-1

bevel washer 10;  35844 9963-5023 screw,  cap,  hh 1/2-13x2.25 cres 6;  35844 9963-129 screw,  cap,  hh 1/2-13x1.75 cres 3;  35844

9997-63 washer flt 1/2 cres 4

Document Identification:

Mk2 prod

Shelf Life:

N/a

Unit Of Measure:

--

Demilitarization:

No

Fiig:

A23800

https://aerobasegroup.com

